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Note : Before answering the questions, read carefully the instructions given on the OMR shest
ol sroe Frdinet Snels OMR mrw SR fiods Aviiet syWigm Soted

SECTION—I : MATHEMATICS

1. If fix} is & polynomial and a is any real number, then x -a divides
Fla) o8 s, g Sooe s S, mand x —a phetas '

1 fix (2 filx)- fla) (3) fix-a (4] Nome (D& mes)
2, 11 x2 —ii-=3, then [woxl) x=
X
1] =1 {2] =3 (3) 2 (4) =5

3. If one root of the equation x2 — px + 8= 0 is twice the other, then p =
2% - px+ 8 =0 Q¥ o5 Boveli TocioNl Tged wond, p=
1y 2 (2) 4 (3) 8 4) 6

4. If x=2 is one sohution of kx? +2x—3 = 0, then the value of k =
x =2 wowd o¥ B kx? +2x - 3= 0, waxd k Dot =

1 1 1 1
-3 2 2 @ 3 “ -2

B.If y=1is a common root of the equations ay° +ay+3=0and §° + y+ b =0, then ab =
ay” 4-uy+3-ﬂmyi+y+h-ﬂﬁnm§-1muﬁ.‘&wummuﬂrr

i) g 2 6 (3) 3 (4) -3
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6. If two roots of x” - 3x -2 are equal, the third root is
x? - 3x 2 ok, ol DaPoses HAMTRES, el TariEl Saruba

1[1] 2 i€ 1 i2) (4 I"':"'g"-m

2
2

T.1f 2+ 3y=1and [=dcin) x+ ¥ « 2 then jecuss) x -
X X

4 4 a 4
1) -2,3 2,% 2 - 4 -2,-%
1 -2, - @ 2,3 B 2 -3 4 -2 -3

g.ir-A_ 5
a; by
the equations are
:_;,:%-% edleam ayx+byy+ o =0 ddn ayx+ byy+e; =0 ¢l Do DEyre Abuiterus
wowd o 3ltrro

where qyx + byy+ ¢ = 0and a;x + byy+ ¢y = 0 are two linear equations, then

[1} consistent and have a unique solution
Selioros 38 5 9 dowroa

(2] consistent and have infinite solutions
Salores Solcin eol g 30 dsumon

{3) consistent and have finite solutions
Aafiore: Soboiin 20008 S 5T oo

4] inconsistent

AR

9. If 2% +3¥ =17 and (Subdin] 32%)-2(3¥) = 6, then [ecxs)

1) x=2, y=3 (2 x=-2,y=3 (3 x=-2 y=-3 [ x=3 y=2
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10. A fraction in the form E becomes equal to g if 2 i added to both numerstor and
denominator. If 1 15 subtracted from both numerator and denominator, fraction becomes '—;

Then = =
b

Em:qumm,mmﬂ:mmgimmuﬁuﬁ.mﬁaummmLﬁ::-:‘.j
uﬁngﬁbﬁﬂ.ﬂ:ﬁ:ﬁ:%=

| 7 L

B

(1) = 2 = (3

3 5 {4) MNome (B& mzs)

11. In an arithmetic progression the first term is 3 and the last torm is 27, The fifth-term
from the first and fifth term from the last are the same, then the common difference is

Y wcl@sE Baosd Bt 3, wpd B0 27, Bwdd Wod, RO Wwed e 55 Moo RrRewsd o §¢ Ca,
ey, Pt (Sorcbe)
(1 2 (2 -2 3 3 {4) -3

12. Under usual notations in an AP if 2 = d, then the mtio of the sum to first 11 terms and
the sum to frst 5 terms =
cf AP & 20 = d o Joasd 11 Sore Dolite Sddin Dutd 5 50w Doliten 3%d -

(1) [%]2 @ [1349]? 3) [15]2 (4) None (8 ms)

13. If the first term of & GF is 256 and the common ratic is [— ilr} the tenth term la

L oA B Ste 256, ﬁﬁmﬂn(-%]wﬂu BeE 100 s

1 1
= i .. 4 -
(1) -1 (2 3 (3 2 (4 g

14. In a GF, the fourth term is 24 and the ninth term is 768, the first term is
8 fondas's Tel oS 24 Sobdiy Frugss dome THE wos o0 Daid 3ot

(1) 2 (@) 3 (3) 4 [4) 6
15. If the centroid of the triangle two of whose vertices are 2, 1) and (1, 2} is (0, 0), then the third
vertex is
B8 Dguns Sl Dot Yoros (2, 1) Solaas (1, 2, &0 Seipwrto (0 Of eoats Sames bie
(p 4, 1 2 L-=0 3 -2, -3 4 -3, -3
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16. If the slope of the line joining the points (3, - &), (-6, 3} is equal to the slope of the line joining
(3, x and (x%, -3, then x =

(3, — 6], (-6, 3) Dotumens ¥h moade e (3, x), (x7, - 3) Dotupes 0% doly ool Smowtucnd,
x-—-
(1] —2or3 (2) -3or2 (3] 2 only (4) 3 only

-2d 3 3 ¥ 2 2 sl 3 sewds

17. The arra of the quadrilateral formed by (-a, - b), (@, - b), (@, b) and (-a, b) is

(@, - &), (@, - b), jg, b ol [—a, b) Dotsped’ MED SButipe Do
(1) ab (2] 2ab (3 3ab (4] 4ab

18. A1, 2, Bl 4], C(3, ?) are the vertices of a triangle. The slope of the line joining the
mid-points of BA and BC is
A[L 2, Bll, 4} C(3, 2 ¢oe bres scu BA Selale BC Saflotspd % fp De
(1) 3¢ 2| e
(3} 45 (4} paralle] to x-axis
fp x-upad darcbic

18. ABCD is a trapezium with AB||DC and AD, BC are non-parallel. E and F are points on AD

and BC respectively so that EF|JAR If%:l then iﬁ.v

ABCD #wecs Stetigmes® AB||DC, AD, BCw smmssorus T AD, BC e oo EF||AB el E,
F ma Bess Dotiagpns, %:2#@:3;_—]3-?

1y 1 2 2 (3 3 (4] None (08 me)

20, In AABC, AD is perpendicular to BC, If BD: DC= 3: 2, then area of AABC: area of AADC =
AABC & BC3 AD wems, BD: DC = 3: 2 woadd AABC paree : ADC Sl 3 To0 =
(1y 2:3 [2) 1:2 {3 5:2 (4) 3:2

21. The n:ngi:s of elevation of two bulldings on either side of a peint of observation between them
are 45° and 30°. If the heights of them are 20 m and 25v3 m respectively, then the distance
betwreen the fwo buildings 8 '

Bot T St o (RO TogE® S oY Deduy ol 45° Nabdin 307 mr Fetuon. w FRERG
Soges 20 bo. 2edcis 2593 bomr o s esiell o G Ty S1G0
i1} 45 m i2) 35 m (3) 55 m i4) 95 m
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32 A AGC s iscsceles with right angle at vertex B If AC= 10 cm, then AB=
B e 55 coeS'nel A ABC o8 Saleriro (Ggons. AC= 10 em woasd AB =

{1} 5 cm (2} 10 cm [3) 592 cm {4) None (& o)

23. Fer a man of height 6 ft, the angle of elevation of the top of a tree iz 45%, If the distance
between the man and the tree ia 20 ft, find the height of the tree.

6 woobn 535 58 o oF Sup S, B St 457 Oh, Deol gy arcie 20 s2iuEd, Sy
Mg Jen?

1 45 Mt [2) 32 (3) 14 R (4) 26 f

24. The arcas of two similar triangles are 100 s3q cm and 64 sq cm. If the altitude of smaller
triangle is 4 cm, then altitude of the bigger one is

Bosks s (Ogiere Pvess 100 Bbebs, 64 Sbeks st Zuod g 4 Dels sand By ek
209

(1} 16 cm 2y 5 cm i3y 10 cm 4] & cm

25. In the given figure, AB, CD, PQ are all perpendicular to BQand AB= 5, PQ =4, then CD =
weod® aeis Duow AB, CD, PO w BO S vowmwo, AB=5, PQ =4 vl CD =

A
P
5 & 4
B D Q
(1) 1 2 9 B — i 20
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26. If AD=2, AC=x-1, BE =6, BC=x+3 and (o) AH||DE, then jucssd) x =

A

B
1) 235 (@ 3 3 35 (4] 4

27. If 0 is any point inside a rectangle ABCD, then
ABCD &j stutipes’ O D22 wobbt Doty waad
i1} OA+OC=0B+0D (2) OA-OC=0B.0D

i3 0A? +0c? = 0B? + op? 14 04? +oD? =0oB? + o2

28. Area of the triangle whose sides are 5em, 12 cm, 13 cm is
5 Do, 12 Doay 13 hewb. geeruar 1R e Pres
1) 25cm? (2) 30cm? (3) 325 cm? (4] TBem?

29. A square of side 3 cm is circumscribed by a circle. Then the area of the circle is
3 Teuda. ghmo FES o SBoOe LY Iphed SORLAANS. w 38HE Prese

1) 9mem? (2} 4-5= em (3} 6n em® 4] Sem?

20. There are two concentric circles of radii 5 ¢m and 3 em reapectively. If a chord of larger circle
is a tangent to the smaller circle, find its length.

Beds Defleifcl Ypore Tpivpes Bam 5 Belu Sulcin 3 ell. werd by et I oy oy Inp
Rl Bhfe vk on ey

(1} 4 cm 2] 6ecm (3) 8 em 4] None (28 mes)

31. The area of a sector of angle 60° of a circle of diameter 42 cm is
42 el Tyse MR e’ 60° Fre I T pres
{1} 200cm? (2} 231cm?® (3) 197 cm? (4) 462 cm?
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33. Ifa circle touches inside all the four sides of quadrilateral ABCD, then the following is true ;
L DS Tresih ghereRs MDD LY Mje wobtam Aohedd, G Bed 6 DO .07
|1} AB+ BC= AC+AD i) AC= 5D
3) AB+CD = BC+ DA i) AN [

33. Il a sphere, a cylinder and a cone are of same radiua and height, then their curved surface
areas are in the ratio

ol dasy, plvores il Fes, Spde Helain Yolipe Sge Proye Mg (o suad)
(1) 4:4:5 (2 4:45:4 3) J5:4:4 {4) None (28 ma)

34. Three metallic spheres of radii 3 cm, 4 cm and 5 cm are melted to form a single sphere.
Then the radivs of the resulting sphere is

3 woli, 4 bols, 5 Tols oyioe MM Sorc Mg &y Fows el o fluer Fedew. e
BorEs (' e
(1} 12 em (2] & cm =3 7 cm 4 9cm

35. A hemispherical bow] of internal diameter 36 cm contains a liquid. How many cylindrical
bottles of radius 3 cm and height & cm are required to empty the bowl?
36 Bo.lo. webl Mgtem NI oF efffomo Dpd' SHe Sems o MBSt Dhe @ Dalwe® 3 el
pivges, 6 Te.to. 38y MBS Spdwsy S 5 e
(1y 1000 (2} 1078 [3) 1152 [4) Nome [28 mmis)

36. The value of tan24” tan42® tan48® tan 667 =
tan 24" tan4?® tan4f® tan 66" Claafty, e =

) 43 2 -%i (3 0 @ 1

cosecl —cof@

. 7
37, If sin@ = 25 then [weww| e e

249 T 1
1] == 2 — 3) 49 4y -~
1) 5 12 23 {3} T
38. The value of sin253° cos65%+cose25” ain G5 i
8in25° cos65%coa25” 8inH5" Quof, Sels
(1] sin4tF 2} ecosdcr @ 1 4 0
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39. If cosech - coth = p. then [scud) cosech + coth -

1 1+p 2 1-p 31 (4 p

R

40. IfnnEH+Ei=%nnd (RDetisg) n.inM—Hl-_-u!E. O« Bz A<90F, then (wol) A - H=

(1) 60", 45° (2) S52:5°, 7-5° (31 307, 45° i+ @D°, 15*

41. A ball is drawn from a bag containing 3 red, 4 blue and 3 gresn balls. What is the probability
that a ball that is drawn at rendom is not blus?

3@.4%%35@3%3&%umm“mmrmm
Sogrs.s :

2
{1 5 (2] (3)

4] None (& mas)

tnlca

2
5

42, If a dice is thrown, what is the probability that the number appeared is a muitiple of 37
uﬂ-ma‘gnmunﬂﬂwuhm:qﬁammhmmw
1 2 |

1 - ) = 3 = 4
“E LI5 fil11 i4)

L) =

43. If 20 defective bulbs are mixed with X number of good bulbs, If the probability of drawing a
defective bulb is -41-, then the number of good bulbs in the box, X =

mﬂﬂmxmﬂwmwmummMEﬁﬁu
HW%MMMWM

(1) 60 2 80 i3 100 (4 20

44. From the following table, determine the median of the data -
G 300 35 Dol Soroly Sl Jeatne ELFeS

Weight 30 32 34 35 40
g
Number of Students 4 6 7 12 2
Sge Seny

(1) 34 2] 3s @ 12 447 31
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45, The mean of first n natural numbers is
0l n e Dopb Hew

(1] m ' 2] n+l 3) {4

L

“- Fn'r t-hE dﬂtﬂ ﬂ. q’. ﬁq ?p 4| 2; Ep 1]| 4. H, IE. 4 H M'I:'HII = H‘Mﬂ -
qq_n:-c-::_-_-n'ui, 4. 6, 7,4, 2, 8 11, 4, E, 12, ‘i!ﬂ.ﬂﬁﬂﬂaﬂu—mh
(1] 4 (2) 2 3} %5 4) 8

47, Find the Mode of the following data :
g ol Sopoily PEredEtut BlofSed ¢

Family Size 24 46 &8 8-10 |
Exssony SSErTIe )
Number of Families s T 3 2
| oo Jﬂ&
it 466 2 7 i3 5 4] 45

48. The Median of the data 8, 14, 16, 21, x, y, 28, 30,33, 38 s 25 and f y-x =12, then x = and

yn

8, 14, 16, 21, x, y, 28, 30, 33, 38 o oorohy Wittt 25 Sl Y- x = 2 woasd x = i
b= .

1) 23, 25 2) 24, 26 (3) 18, 20 (4} 25, 27

49. From which aof the following curves we can find the median of a data?
Srcisp Donlicy BeREEnd G $o0 Jislped’ DO adaugs?

{1} Bar graphs (2] Histogram
b Seo L PR
i3 Frequency polygon [4) Ogive curves
- Dy mughd BAS wgies

BO. The sum of the obeservation of a data is 576 and its arthmetic mean is 18, The number of
observations of the data is

L8 Smovy shbete Dulie 576 taldn oF veliiein 18, u SoeTiest bl Sy
(1) 24 (2) 32 (3) 48 (4) 36
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51.lExiaan:.'mﬂnnnlnumbnrinth:ﬁ}rm-s.mreqiainthcﬁurmzmﬁ" where m, n are
non-negative integers, then x will have a decimal expansion which is
xuﬁﬁfurwshmhmzuq.mﬁ'qqﬂaﬂ“ﬁ" ul Dpam &0, M, n o cueRtEs IO
) 5

Wrrer, vewd x S, ST o

1} terminating (2] non-terminating
wolitadint woliSa TG

13) non-terminating, recurring {4} None D& o)
ealifin B3, oS

52. p is any prime number and it divides a”, Then p also divides
p B S dog, Teddis p, 420 @Rl Band P ... EFE el

1} a+l 2 a=1 (3 a [4) MNone (o8& =z
53. alwa 3
{11 27 2y 81 (3 243 4 9

54, If 2logn 4 + 2105 3 -2logyg 12 = log)p x, then [wonid] x =

{1 10 [2) 4 3) 2 4 1

§5. If cube of. 5 can be written in the form 9m or 9m+ 1 or 9m+ 8, then m (m is a positive
integers| =

5 @k, Jsiy Om 20 Om + 130 9m + B todef' pratailE m = (m o8 R Yrgesiw)

i1} o 21 12 3 13 {4 15
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§6. From the diagram estimate sum of elements in (Aw BjnC
Birsas OTET Gei (A w BN C 80 Sureme Tuedy BliToed.

, -
(SN

(1) 18 2) 12 =3 9 4 3

§T. How many subsets the set P = [0 1, 2 3] will have?
P =0 L2 33 5dd o dululion Bogy

(1) 4 2) 16 (3) 8 4) 32

88, If n{A-B) =5 and [Ss8d) njAn B) =2, then (waxd) nid) =

(1) 3 (2) 4 2] 6 w7

59. The degree of the polymomial I_E-rl]idr[ﬁ—lli is
W+ D2+ (Vx - 1)? e oot dlon, S

(1 O 2) 1
(3 2 ‘4] Mot a polynomial
soreasdl P

0. The common zero of the polynomials fix)=x? - x -6 and glx)= x* -5x+6 is
flrllxa—x—ﬁmgm=xi—ﬁx+ﬁﬂmaﬁuqau
1 -2 (2) 3 (3 2 {4 None (=b waa)

SPACE FOR ROUGH WORK | J8530) Surcoclels gels
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SECTION—II : PHYSICS

61. The reverse process of evaporation is

Piptsnets Dt pilan

(1} melting {2) Ircezing
Pl Sogihe

(3] condensation (4) oxidation
Srofsemio whfal (wdueo)

62. A house has one bulb of 100 W used for 10 hours a day, The cost of electric energy used by
the bulb in 30 days @ 3 per kWh is

100 W g o fio o morbe wd godd’ Berd 10 fons SSQehde. o kWhi @ F3 gote, v eapd 30
Beres dsalonly, D0E0Ne woosty 20l 9 Dess
{1} 50 (2) ®100 (3) 3o (4) ®10

63. Four wires each of resistance 8 Q are arranged In the form of a square. The resistance
between the ends of any diagonal is

Ly B 0 oo 55N 4 SHeds LY SEatEmTted’ et Emmrquaﬂ;ﬂﬁ‘m
(1) 320 (2) 160 3 8o (4) 0125 Q

64, 2 volt = 3 coulomb =
2 Sy x 3 wrered =
1y &64J (2} 65 B3) 6 A 4] & W

65. Which among the following materials has resistivity of 10 x 10'% oom at 20 *C?
207 C 55 10x10"° Om o9 268 b Sonme
(1] Air (2} Lead [3) Copper 4] Glass
b hae R e

66, Read the following two stalements and pick the correct answer :
3ol Toks Twpey HOD OGS PG Jotl'sd
(2} Human skin offers more electric resistance than the organs inside the body,

() Human body offers a common electric resistance of 10000 Q always.

mmmﬂ 10000 £ of 2258 26%0, soprces.

{1) Both [a) and [b) are trus (2) Both [a) and (b} are flse
(&) Zobciaa [b) Datl» 2erd (&) Sadcts [b) Satls B
i3] Only (g} is true (4] Only (b iz true
(a] 2ogla Sua (b} smpds e

SPACE FOR ROUGH WORK / D8osdd Surowslods jois
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67. The resistance of a wire of length 100 em and area of cross-section | mm? is 1 Q. The epecific

BE.

Tl

resistance is

100 cm S, lmiﬁﬂﬁnwmuhﬂhlﬂuﬂﬂim
(1] 107 B (2] 1079 am 3 19m (4 10°%Qm

Which among the ollowing does not invelve the principle of total internal reflection?

Bof Tl Hegrrety SoSTaLT eTURals
(1) Working of an optical fiber

ebsf b adatee

{2) Shining of diamonds

S Save
(3] Appearance of mirage on distant road

srGy Glopp Jesirge Shedto
4} Working of a solar cooker

Mol w20 dawas
A rectangular tank of depth 6 m is full of water of refractve index % When viewed from the

top, the bottom of the tank is seen at a depth of
ﬁmﬁ‘mﬁn&gmmkﬂm%aﬂmmmmm%mmﬂ
o gt Ebe: & .

(1] 45 m 2] 25 m {3 13 m 4] 3 m
. The speed of light in a medium is same as that in vacuum, The refractive index of the
medium 18
o crnsed’ med Dt waed’ wod Sl mone, u s milbein foentes
) © 2] 1 (3] 133 (4 3
Il u and v are the object and mage distances respectively due to a convex lens, then which

among the following statements is false?
U Zedcias v oo 1Y Segird Sols Dol S Heldin BOfon SR BT coad S8 D e B8
(1} As uw increases, v also increases
u IR, v BbEed
2] As u increases, v decreases
u BEED, v Bkl
3] As u increases, v remains constant
L LAATe, b S
(4} Mome of the above

T T
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72. Read the following two statements and pick the right answer :
Bod Doty Dame Mool BOAL SN Dedubled
(&) A concave-convex lens has two curved surfaces.
errd-hormd Surid Tols SEbow dowmew.
[b) A bi-concave lens has two curved surfaces.
- Ts R Doty REDowe doiron.

(1) Only (a) is tue (2) Only [b] is true
(8] 5P S b g Jedia

(3] Both (a) and (b} are true (4} Both [a] and (b} are false
() Bslettss [b) Boir Nerd (&) Sodeit (b) Doty By

T3. A convex lens forms an image at infinity when the object is placed
Sad D Moo 50 Ao, 1Y Dot Koty wictaried’ Botonl, Mptise?
(1] at focal point
™0 5
2] at centre of curvature
Spodsite B4
(3] between focus and centre of curvature
T ubasss Riyosige By
(4] beyond centre of curvature

ot wio

T4. The magnetic ficld lines near a long straight wire are of
el e b G0 Mo woldnel o Spw
(1} straight lines parallel to the wire
Gones smmatter ded oo
(2} straight lines perpendicular to the wire
-, B> ponam ol isudee
(3] concentric circles centred on the wire
Brt Soisam Sepiis el e
(4] radial lines originating from the wire
26 wool agRel Sdand seges

SPACE FOR ROUGH WORK / Deial Surccotods Hetu
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75. Which one among the following pair of ‘physical quantity - unit' is wrong?
ot PO - Firme’ meons’ DO BT
(1] Induced current — Ampere
(205 SHud - wabanb
2] Magnetic flux — Weber
walain ot wltre - 2
i3] Magnetic flux density — Weber/metre
walinot el Mot - Bubfl?
(4] Induced EMF — Tesla
(08 DesyThes welias - D30

76. Regarding AC generator, which among the following statements is wrong?
AC Bl Sovofold [#od I S By
(1} It has two slip rings
03 Deda B0 Dales SodPow
(2} As the coil rotates, the magnetic flux remains constant
diftioy SUILEEIs, ecidmol el o douscd

(3) It can be converted into DC generator

oo DC Estelm srgatore
(4) MNone of the above
oD
_77. The device used to comvert mechanical energy into electrical energy is
Py W Dl W Sy S
(1) ammeter (2) galvanometer
gt et
(3} motor (4) generator

LR LT Emiuh
78. The magnetic flux through each turn of the coil increases by 0:01 Wb in 01 5. The maximum
induced EMF in a coil of 100 turms is
L5 Siiot’s B0 Sagdedr 0'ls B miiG wloitre Dise 001 Wb woxd 100 S 3805 Srsept’
Sepes 105 (550 Deyen neo
(1 10V @ 1V 3 o1V 4 001 Vv
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79. The magnetic force acting on a straight wire of length L carrying a current [ kept
perpendicular to the magnetic field of induction B is

B (bor 5608 edidot Yook vonom doth dndayp L elaw oW vegr Eotroe 3ad I eand, oWk
Sy wotiadm ot wetia

(1 o 2) E {3) BIL w B

80. To correct one's myopia, the selected lens should form an image at
ity pbET, Tonden T Nea¥o DESUREND Bdlon IEn
{1] mnear point
(2] far point
NEETG Donsy 5
{3) both near and far points
R Rl ORI Doduge Bo
(4] Mome of the above
L

81. Pick the false statement from the following :

Bo2 TIE' i TR 287

{1} Eve lens forms a real image
oud Bstio Dt 0D, Digisgzed

2] Image 1% formed on retina
ST Sdloue Shiutosl

{3) Cornea contains rods and cones
POErE Secrn 2aboin Foguipns Gowmaw

{4) Distance between lens and retina is about 2'5 cm
sosd el Bstatz Duder Hoipirvo 245 ol

B2, Arrange the following colour of light in decreasing order of their wavelength :
dal Mol Sl Dwd SSaE0 o Wit eSbine Eled” wltpd :
o Blue (=es), Red |(=tsg), Violet (&)

(1] Eed = Blue = Vielet [2) Red > Vialet » Blue
Ry > Moo > B ey > fer > Deo
() Violet = Blue > Red (4} Violet = Red = Blue
Ear > Do > Mol Sl > Mbp > Reo

SPACE FOR ROUGH WORK /| 285304 Sromotiods Pomas
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83. The example of dispersion is
el DSmetn Soimn

(1] red colour of sun during sunset
SronEtacive Saciet’ ANt Jtalm Mhetts
2] rainbow
RSy

(3] blue colour of the sky
TR Saoth, moo Sol

(4| droplets on plants
Bl o M Soligus

B4. When we enter a cinema hall, we cannot see properly for a short time, This is because of
See nanor dlbebE'nl 203 why vodd s wibonzs, SOE mme

(1} eye-lens becomes opague

mmumww

(2] pupil does not open
el Bonessdnes

[3) ciliary muscles do not react
shaird Soloes Hobonl Mke

(4) adjustment of size of pupll takes sometime
Fed 305 St ot Mcle Syptis

85. The negative sign in magnification indicates that the image ia
esligiie Caerinl Do YO dof o BoDontiao

(1] erected (2] inverted [3) real 40 wvirtual
R S Bejialoen = Sy
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B6. An object 4 cm in size is placed at a distance of 20 cm in front of & concave mirror of radius
of curvature &Dt:_m. The position of the image is at

4 om 3Wrne Mo o By 30 cm Sger, Tyhge S o8 POTU Sone Dweds 20 om Groes’ eca.
Folen SRR

(1) -25 e¢m (2) -60 cm (31 -20 cm 4 -3T-5ecm

B7. The angle of incidence of a light ray on a plane mirror is 45°, The angle between the incident
ray and refllected may is

LE 0O Gtmop Toddtne duy, d0uE'ne 45 Lps 200 J0eTTS Dadcie BoRGD Wertd W Fre

{1y 22-5* (2) 45° [3) 90 (4 135"

B8. The specific heat of water is 1 cal/gm-*C. Its value in J/kg-K is
o 2335e 1 cal/gm-*C. &4 De J/kgK &

(1} 273 2) 1000 i3] 2100 (2] 4180

89. An object Pis at 100 K and another object () is at 25 *C are kept in contact, The flow of heat
is from
100 K it 500 P et 23 Sebato 25°C a3p0 S083 Q vt Sl s’ acd, 4y porse 30
Bagy GOS0

(1] Pto Q 2) Qo P
Pk O % O sk P i

(3] No flow of heat (4] Neone of the above
Al gortie Aali L )

90, Which among the following has lower specific heat?

wey DAt RO
11} Mercury [2) Iron 13) Ice 4] Water
Szt i faesa S
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SECTION—III : CHEMISTRY

91, The pH of blood ia in between
it ol pH Jesd O Sois Duslie Rofy GodiRa?

(1} 7-8 [2) 67 [3) 45 i4) 13-14
92, Match the following :
G 308 DD mBSlrdan:
& Caustic soda {ii HaHCO;
i For
b. Baking soda @] CaSO, -2H50
Bief P
e Gypsum (i) CaSO - H;0
i
d. Plaster of paris [i¥) NaOH
ﬁﬁ eh o
1) a b c d
{i) W) ) (i)
2] a b C d
() fiv) [ii) (i}
3 a b c d
fiv) ] i) (]
4 &' b e d
[iv) ] {id] (i)

93. NaCl+H30+COy +NHy — X +NaHCOy. The X may be
MaCl+ Hy0+ 00y +NHy — X + NaHCOy & 348 X D sogies sipigiel

(1] NH4HCO4

(2] NH4OH

[3) NH4CI

(4) [MH4)2C03
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94, The maximum number of orbitals accommodated in & sub-shell with the angular
momentum quantum number [ is

Frka (g eulc Sopy | ™ fie &3dusd® dotne ulprde foxy
[y 1+1 (2) 41+2 (3 20+1 @) i+

95, As per Moeller chart, the correct aseending order of energy in the following atomic orbitala is
saned Sue OG0 pﬁwmqﬁ‘wmm{mM}

1) 3p<3dcdscdp (2] 3pecds<cId<ap

13) 3dc<3p<ds<dp [4) 3pc3decdp<is

96. The wavelsngth of visible light is in between
giftes o0 @as, buen B S D Dualie Jufy detmud

{1 100 nm-300 nm 2] 400 nm-700 nm

(3] 700 nm-900 nm (4) 800 nm-1000 nm

97. Which of the following elements constitute a Dobereiner's triad?
&1 Jol sarerot’ Do ooleb PEtasis Arletue?

{1} Li, Na, K (2) Na, K, Al (3 C.OF (4] He, H, C

98. The formula of compound formed between the element X of lIA group and ancther element
Y of VIIA group is

X ol Imﬁrﬁmm‘fuﬁwmlﬁrﬁmm b Shattitier dlak, Do

1) Xy (2) XYy 3] XgY [4) XYy

99, Which group elements have the outer electranic configuration as nsﬂnpa?'
b@ﬁmmﬂmmmznﬁﬂmm

(1) VA 2) VA 3 na [4) 1A

SPACE FOR ROUGH WORK | 65808 Sucncteds jes
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100. Which of the following element has largest atomic size?
1 Job Zarurod’ B8 oy BHSrow Jar dowel?

(1] Be 2) Mg [3) Ca 4 BEa

101. The correct order of ionization energy in the following element is
T (Jol Dorerel poERS edhnatn B ERa
(1} F>C>0 [2}) F=0=C 3) O>F>C [4) C>F=»0

102. The ionic bond is formed easily between which ions?
Jered) wllMion Gagi walN wofo J0Em Dissieon)
[1} Larger size cation and smaller size anion
ulE Per BED ToOdrD Soldl BLS por d CUCING

(2] Larger size cation and larger skee anion
o Do & Tudrd oldin ol ber &% dFicieg

(3] Smaller size cation and smaller size anion
By Per dy Podiph MOl i e &% dicind

[4) Smaller size cation and larger size anion

DD Ber &3 Mol WOy M e & e

103. The number of lone pair of electrons in CH,; molecule is
CH, eramd® dof rowh s s Homy

(1] zero 2) 1 (3 2 {4} 4

104. The bond angle in H,O molecule is
md (H0) wewigh' 408 worsimnn
(1] 10748 (2) 180" (3] 109%28° {4) 104°31

105. The molecule that containe only sigma bonds in the following is
e ol weups® DA b, pogeons® sopds 50 dowsca?

(1] CgaHy4 (2} Oy (3) Mg (4) NHy

SPACE FOR ROUGH WORK / Otigand Saroaododd juio
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106. The type of hybridization in C H, mealecule is
CoH, wrapd® eofl Soslmsn b

(1) sp _ (2) sp? (3} sp® 4 spid

107. The low reactivity metal in the following is
1 S0l A6 38 pID Dovol ¥ e
1) Au 2] Mg {3 Zn (4) Cu

108. CaCO5; — Ca0 +C0,. This reaction is an example for
CaCOz — Cal+COy eits By 23 doente?

{1] =melting (2} calcination
kel Gmiesiias

(3} reduction (4] roasting
HeaBtestag v

109. Ag,5 is dissolved in KCN solution to get
AgS T KCN pnsol’ siotim O Sogie Shasi?

(1} ApCN (2) AgiCN)y (3) AgySCHN [4) EKNC

110. Which of the following is an unsaturated hydrocarbon?
1 ot O DO edeling IMERS?
[1] CHy (2) CgHy (3) CsHg (4) CoHg

111. Successive compounds in a homologous series possess a difference of

mm@:ﬁﬁ‘mmsﬁ:‘mﬁaﬁmﬂm

(1] |—CH) unit {2} (—CHs) unit
[—CH) ctaridl [—CHg) coamias

(3] [—CH;) unit (4] [—C4Hy) unit
—CHg) chrs [—CoHy) carnd

SPACE FOR ROUGH WORK / DDl Soroncleds jesw
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112. The IUPAC name of the compound CH,=CH—C==CH is
CHy=CH—CmCH wio St dwos, [UPAC s

(1] but-3-ene-l-yne (2] but-1,2-ene-3 4-yne
S W LA LY aral-1, 2-845-3,4 =5

(3) but-4-yne-1-ene (4) but-3,4-ene-1,2-yne
wAd-d-an-1-6 w3, 4-gi-1,2 =5

113. Ethanol on heating with acidified KMnO, to form ethanal and acetic acid. This reaction is an

example of

2576 whumys KMnO46* 30 eeh gl 2odam Ml emgmos Dupasso, by 30 dondn?

{1) addition reaction {2) substitution reaction
Sokess 30; R

(3} reduction reaction (4) oxidation reaction
g B0 ek B0

114. 5-8% solution of acetic acid in water is called as
6" 5-8% bl wms EorEe d ol Seewrdo?

(1} winegar (2) formalin
s Tl
{3) gasohol (4) cough syrup
e B et
11E. The general formula of ketones is
hsﬁb.w_- Gaoth, MHEin S
(1) R—O—R (2) R—CO—R i3) R—COOR (4] R—CHO

116. The chemical formula of bleaching powder is
Lo 2ol dloy, sl Sroae

(1] CaOClsy (2) CalOH, 3} Cad [4) CafHCO5)p
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117. NaCl + AgNOy — AEClL +NaNOy is an example for
NaCl + AgNO5 -» AgClL + NaNO, wio a4 £33 doontie?

(1) chemical combination (2} chemical decomposition
Enctind Sedleii S Dy

[3) displacement reaction i4) double displacement reaction
=t e S CRmCEs Cyoly LA

118, The spoilage of food can be prevented by adding preservatives like
uiite Seniten doswall ool Db Seshoras?

(1) wvitamin C only (2) wvitamin E only
Suid C s»pds oeeld E ool
3] vitamin C and vitamin E (4} vitamin D only
el C toddin Delst E Dzl D arpds

119. CgHy305 = xCoHgOH+ yCOy. In this balanced equation the x, y values respectively are
CgHy 30y = 2C3HOH+ yCO, o Boo, ShuemSeod® »,  Josbes Stewm

1,1 2. 2, 1 (3) 1,2 [4) 2,2

120. Which of the following solutions corverts bBlue litmus paper to red?
e ol ondE' D peesion DO Gerl Duyte I Aot

(1] Ho (2} KOH (3) NaOH (4] Ma,COy
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